EARAROBREBRT —5 XN—ZXBISH—F

202456858 (K) 6OEH1H

Elc2— s5x4mt

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1000 =

[AE%] 17&:700,00 F  27&:245,000 W  337%&:140,000 .~ 43 :105,000H . 5 7&:70,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
Sh T =3~ B4 | AZEEEK 1:32.4 4-4-1-1 | 40.0| - 1 45) | FHEX (EE)
1189 | Rov—IT=vvg 5.0 [ 2 | @) FT<B5I-RL—vay
R:OYVIAZI7—R BRYF7HN—Y EdHhIT7—LA
IS 6 | IBETF 1:32.7 3-3-5-5 | 40.2| - 5 | 474 |FHEE (EH)
205|5 | XM¥3DT9AH E 54.0 a1/ +16) =2
RiAXAYIDYLYY B:XAY3D7IVIN AT BEE
4= st 5 | EEm 1:32.7 2-2-3-2 | 40.4| - 2 456 | BP—I5 (EH)
3 6| NTIA=F 54.0 “E) s | @ E=7Ovzoh
RPRIAVL—Y B:F4FFLS F4FUARTST
—_ KFHEE B : -9-2- - BN (Fk)
4178 7Ty 4 R A I ) g? e
R:i5=Z #:5N=—-1 TREHS
= " ALLBEAXEB 133, -5-5- . - WOss= ()
5 3 FAHA T 4—) 4 4 54.05 1 (323) 2 6-5-5-4 | 40.6 3 (:1?(7)) i
R:FI/INS—R BFZTHFESY #HE77—LA
== LUZSIXAE] 288, -10-9- . — aigm (TR
6111 |720-3YIL "D R A ° fff) B
RFAUAYRA NUAw b B PS5—5 MRS
=, —_ o6 | EEER 1:34.0 7-7-7-6 | 41.2] — 8 53 | HFHE (BM)
717217|714=—9 *52.0 (3/4) () |BEED
R:O0—RAF0O7 B:FPARTLAT =IB%in
w R — B 5 | AWK 1:34.2 5-6-8-8 |41.4| — 9 | 459 |EEFIEX (EME)
EH 2| LY RZ T o=l 56.0 (/4) @3 |8 A—IPARZES
R:A7U—ve—0O— H:LyRUTI—)L #HEI77—LA
° . AT :35. -8-10- . - ERE (FH)
91810 TARILIS—Y 1)L 4 52.0 1(:1’:3)8 8-8-10-10 | 42.8 10 (4_7‘3 ;:ﬁﬂ\
R:T=ILRYY T BRARIATU—F EvIUyRI7—L4
=3 HEHE= :36. -1-4- . - TRE¥e (EH)
oW 4| x1o75vva s 9 Es 1(37639 1-1-4-9 | 44.6 7 (4+431) e
RPLSAN—k B FISI—LTILT TITSTF— L
@ 11— —BERIEI
13—7F— 4,6,5,9,2,3,7,10,1,8
20— — 4,6,5,9,3,2,7,10,8,1
IT=5r= 9,8,6,4,(3,5),7,2,1,10
43— — 9,(6.8),3,5,7,1,2,4,10
o ILRE
BB 9 170 JA R 5-9 400/ & 5-8 1,020 3ER 5-6-9 8304
B B 9 1004 6-9 1504 5 & 520) 1,120 3Es 9-5-6 3,520
5 270 5-6 560 oS- 1 9-5 1,450
6 130

ABIC OV TRUTEREERRODDZE. THRIIZEL.



